N
= A
= ) N ) N - ) N )]
= gi\}‘? = NN MIPNINY MINIYIN AYATNIN - 7PYUNY” NI DTP NN
3 & 97N, 2020 ,MITY , PYNIN V73 MNN
33 prp W? 9955 NUNA M NP 1Y — 40 Mav
"N oy n oy =)D BY=1% 107 N DY
NP0 N 5.6 NPD 72 4.6 NP /N 3.6 NPO 1 2.6 NPO 'V 1.6 NP N 31.5
m N N 0N I DN 7N NN
ININ PPL) POIN V) IMm YW NI ONIN DY >N
DN
mayn
7:15
7:45
8:30
VI NV aL2ARRYAR] MDITN NNAVN aLARRYAR] Bl2ARRYIARS
. PpoS 9:30
—OPIN NYY 9: 30 B " 9:45
V1AV DD 713271 PY -HNN MmN -Nn M129N2 NI e u;)v n§§§ 21 7N
NYIYN
D»I9N 11: 00 11:30
Y91 N Ll ?_‘Jg:zf 11:00 ?2N5 NMION INIYI- INDIDON
: PYRM
12:45
13:00
09 *9%231 )18 12:15 16:00
N9 -N2M MM 0978, 12:30 15: 30 Ny
- b}
oMYA 1953 13:45 YW NDIN Y AP |0 Brens 16: 00
P10 — PPANT 14:00 OO 16:45
PR3N MY "7 597 17:45
! DYV Nav A Y NNN PV =997 MIN | ;’N__“])'-,’J N DY NPOIN 17:00
- S 19:00
— NY999 N¥AWN 20:00
=910 YN 20: 30 N 5 ; — 9720 PON
519;31)9 mHan AONAIOR MM NMY Y250 MOMNN -9N SNV POSIN
NIV
e 21 52200




2

wﬁ m’hk)%’
£ 3

NN MHINNY MUNIYIN AYATNIN - 7PYNY” SN DTP NN
297vn , 2020 ,M9TY , PYNIN V7D MNN

4y,
> NN MTY XY D2 NP MY — 40 WAy
"N oy n oy 7 0P oY 10y N DY
NP0 N 5.6 NPD 72 4.6 NP /N 3.6 NP0 " 2.6 NPO 'V 1.6 NP N 31.5
NN m m N 0N N A
RPaVA) ONIN 99y T AN 53y DY YN
PIOUY 950 PN D DN 92 ONOIN )TY DV DY ,0M 5V YINDI 19 0NN
mMTY MY MmN
7:15
7:45
— N2 NYTY PN 8:30
b2V Y M
DOy - 12V NV al2ARRYAR] BIARRAM YN T
I == 9:30
— TN WY 9:45 9:45
91N MTN -)TONX -INDIDON DMON 9: 30
Y - -
V1AV DIDD P30 Y 11.00 DIN P77 -PrANY PY W
ano
99
e e IT:00
11:30
-1 MIPON 12: 30 PNDIPA-NYY 11: 00
mTn MPYOY MaINa
12:45
13:00
MmN —1y5) 12:30 16:00
- PNYO TIN WY 7357 N¥awN 17: 00 oMM 15: 30 Nyon
AN PNy 0918.N 13:45 MITN NIV 12V NNYNY 16: 00
OIND 16:00
2V -N2N NN2 17:45
! DYV Nav N2109P NPOY =0V NN 3N | 0w 36 NHWNHN - v n:{:b wn DYDY NYOIN 17: 00
DWOWN VS 0771190 nYn3nm
— 19:00
19:00 20: 00
-0 N 19:
Y -y Y b -0 b .
PYIN MTNY -IN) D) 9N 711N NV MNTYN TV -0 YV WD PN 18: 30
21:15-22:00




